Calcular porcentagem de decimais
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Nome: Encontro: Data: Pontuagdo:
0, 89 x 50% = 6,56 x 50% =
7,16 x 70% = 9,22 x 80% =
1,35 %x20% = 9,58 x 90% =
8,27 x70% = 1,41 x 80% =
5,62 x50% = 1,22 x 10% =
1,57 x 50% = 9,87 x 10% =
1,16 x40% = 5,37 x40% =
4,47 x 50% = 8,73 x 30% =
1,69 x20% = 7,51 x 60% =
8,72 x 40% = 2,76 x 60% =
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Calcular porcentagem de decimais

Nome:

0, 89 x 50% = 0.445

7,16 x70% = 5.012

1,35 %x20% = 0.27

8,27 x70% = 5.789

5,62 x50% = 2.81

1,57 x 50% = 0.785

1, 16 x 40% = 0.464

4,47 x 50% = 2.235

1,69 x20% = 0.338

8,72 x 40% = 3.488

Encontro: Data:

Pontuacao:

6, 56 x 50% = 3.28

9,22 x80% = 7.376

9,58 x 90% = 8.622

1,41 x80% = 1.128

1,22 x10% = 0.122

9,87 x 10% = 0.987

5,37 x40% = 2.148

8,73 x30% =2.619

7,51 x 60% = 4.506

2,76 x 60% = 1.656
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